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QUESTION 1

As part of your Oracle Database 12c post-installation tasks, you run these commands:
Cd $ORACLE_HOME/bin srvctl stop database -d myDb chopt enable dm srvctl start database -d myDb
What does this do?

A. It enables the Oracle Data Mining option in your Oracle binary files.

B. It creates the Fast Recovery Area disk group.

C. It generates Client Static Library.

D. It configures one of the Oracle user accounts.

E. It configures Oracle Net Services.

F. It configures Oracle Messaging Gateway.

Correct Answer: A

Reference: http://docs.oracle.com/cd/E16655_01/install.121/e17889/postinst.ntm#RILIN1049 (see 4.4)

QUESTION 2

Which statement is true about Enhanced Real-Time ADDM in Oracle Database 12c?
A. The analyzed result is lost when the database instance is restarted.

B. It runs every 1 hour automatically.

C. Itis shipped only with Oracle Enterprise Manager 12c.

D. It analyzes high CPU trend and identifies problems before they can threaten application performance.

Correct Answer: D

QUESTION 3

Which three statements are true about database storage structures?
A. A data file can span across tablespaces.

B. An extent contains one or more segments.

C. Tablespaces contain one or more data files.

D. Data objects are stored as segments in tablespaces.
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E. Segments can span across data files within a tablespace.
Correct Answer: CDE

Not B: Segments contain extents.

QUESTION 4

Which statement about the Oracle Advanced Security Data Redaction feature is true?

A. It transparently encrypts data at rest in Oracle databases.

B. It securely manages encryption keys.

C. It protects against theft or loss of disks and backups.

D. It prevents OS users from inspecting tablespace files.

E. It limits the exposure of sensitive data in applications.

F. It alters data in caches, buffers, and persistent storage.

G. It impacts operational activities such as backup and restore, upgrade and patch, and replication.

Correct Answer: E

Redacting Sensitive Data for Display Data Redaction provides selective, on-the-fly redaction of sensitive data in query
results prior to display by applications so that unauthorized users cannot view the sensitive data. It enables consistent
redaction of database columns across application modules accessing the same data. Data Redaction minimizes
changes to applications because it does not alter actual data in internal database buffers, caches, or storage, and it
preserves the original data type and formatting when transformed data is returned to the application. Data Redaction
has no impact on database operational activities such as backup and restore, upgrade and patch, and high availability

clusters.

Reference: Oracle Advanced Security, 12c, Oracle Data Sheet

QUESTION 5

For which use case would you use a rolling upgrade with the Oracle Active Data Guard feature?

A. when upgrading from Oracle Database 12c to the first patch set of Oracle Database 12c

B. when upgrading from Oracle Database 10g to Oracle Database 12c

C. when upgrading from Oracle Database 11g to Oracle Database 12c

D. when upgrading from any previous version of Oracle Database to Oracle Database 12c

Correct Answer: A

You will be able to use this feature to perform database version upgrades starting with the first patchset of Oracle

Database 12c (that is, you cannot use it to upgrade from any version earlier than the first Oracle Database 12c
patchset). This means that the manual Transient Logical Standby upgrade procedure must still be used when upgrading
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from Oracle Database 11g to Oracle Databasel2c, or when upgrading from the initial Oracle Database 12c release to
the first patchset of Oracle Database 12c.

Reference: Oracle Data Guard Concepts and Administration, 12¢c, Using DBMS_ROLLING to Perform a Rolling
Upgrade
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